Y TORNEO B-270

HEPE‘-IEHb KOMIMJ1eKTYHOLWNX

Ne OnucaHune Cneundukaums Kon-Bo, wt
1 TpeHUPOBOYHbIV KOMMbIOTEP 1
2 BUHT M5x12 4
3 3arnylika D25.4 2
4 onneTtka NnopyyHsa D22.2 2
5 Camopes ST3.5x20 2
6 CeHcopbl gaTymKa nysbca DCL 1
7 Kabenb fatymka nynbca L550 2
8 Mopy4eHb D22.2 1
9 Kabenb ceHcopa L950 1
10 CTOMKA NMOPYYHSA D50.8 1
n BUHT M5x14 1
12 Perynstop Harpysku 1
13 KpbilKa nopy4Hst 1
14 Lan6a M8x14x2 1
15 LLlan6a rpoBepHas D8 1
16 BTynka 8x12x35 1
7 PykosTKa M8 1
18 Ceano D24 1
19 Onopa ceana 1
20 Ckoba 1
21 MofcenenbHbIV LWTbIPb D38.1 1
22 Mepanb neasi/npaeas 1
23 Camopes ST2.9x8 10
24 KpbilKa Koxyxa 1
25 BTyniKa WwaTyHa 2
26 Camopes 3/16" 4
27 KoXyX 1leKOpaTUBHbIN S1EBbINA/MPaBbIn 1
28 3arnylka D50.8 2
29 BUHT M3x8 2
30 Onopa nepegHas D50.8x410 1
31 BoAT € KBAAPATHbIM MOAr0/I0BHUKOM M8x65 4
32 Ddukcarop 1
33 Pama ocHoBHas 1
34 BONT C BHYTPEHHUM WeCTUrPaHHUKOM M8x16 4
35 Lllanba nsorHytas 8.5x19 8
36 TpOC perynnmpoBKM Harpy3ki HUKHUIA 1
37 Kabenb ceHcopa HVXHWI L500 1
38 BTynKa nofceaebHoro Wwrblps D50.8 1
39 PykosTka M16 1
40 Camopes ST3.9x50 5
41 BTynka D17 1
42 LLlanba 17.5x25x0.3 1
43 LLlan6a BonHoBsas 17.5x25x0.3 1
44 MoAWnnNHMK 6203 2RS 2
45 KonbL,o cTonopHoe D40 2
46 BUHT M5x12 4
47 BTynka 17x22x10 1
48 LLiknB D190 1
49 PemeHb Np1BOAHOM 320)5 1
50 Ocb WwkmBa 1
51 Mpy>XunHa 1
52 MarnuT B cbope D190 1
53 BOAT WecTUrpaHHbIn M8x55 1
54 ranka M8 4
55 BOAT WecTUrpaHHbIv M6 1
56 Lan6a 6.5x13x2 1
57 MOALWMMHUK 6000 2
58 PoIVIK HaTsXKHOM 1
59 ranka 3/8x4.5 2
60 LLlanba D11 2
61 Ocb MaxoBMKka D10x124L 1
62 MaxoBuK D194x4KG 1
63 MOALWMMHUK 6003 1
64 MydTa 0broHHas D35X17L 1
65 LLKMB Manbi D25.4X)8 1
66 MoAWMNHUK 6800 2
67 ranka 3/8X3.8 3
68 3ar/iyLuKa onopel D50.8 2
69 Onopa 3agHas D50.8x500 1
70 Kodkyx nopy4Hs 1
71 MoAWNMHMK 6300 1
72 Kntod WecTurpaHHbIv 1
73 Knto4 MHOro®yHKLMOHAbHbIV 13-15 1
74 Kntoy raeyHbin 1
75 3arnylika 2
76 LWan6a 8.5x19 1
77 PykosTKa 12x25x2 1
78 BONT WecTurpaHHbIi M8xP1.25x12 3
79 LLIaTyH neBbI/Npasbiv L165 1
80 [lep>arenb 6yTbIN0K 1




B-270

MoaeTasnibHaa cxema TpEHaXKepa




